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01BHE 2OI&r YUHE N SRESBAN 2
2N ERSERANAL
HE: 2OALXN L
ool BAWTIY L ESX CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
HRSEBANA 429,170 396,669 32,501
2OIAYT 337,826 307,533 30,293
PAYIYNY L VEX 337,826 307,533 30,293
A2 Y B & 337,826 307,533 30,293
101 @121l 54,552 65,929 A11,377
VSR EESETES 54,552 65,929 A11,377
HESHRANL 29 54,552
oz 62,3602 +3% + 1672 31,243
OFg+y 62,3602 *3% +762 14,219
OREH 5,0002 +32§ %1672 2,505
ozl 5,000 +3% +1672 2,505
ON=ay 2,880
S 40,0008 +3% +8 960
. EHlS 80,0002 3 +8% 1,920
O It 400,000% *3% * 13| 1,200
201 L2yl 153,244 146,064 7,180
01 Ak 22l bl 74,462 81,532 AT7,070
CIIETER= 55,630
ORAHIBY +42 50,0002 * 122 1,800
OXSAMAAE 242 50,000! 122 600
OFALALE (+24S EH)
210,000 *53] 1,080
OAY HEEY B 150,0002! * 128 1,800
OFI| HEAY B 300,0002! 122 3,600
O5YJ A HBE 150,002 « 122 1,800
OB2I| BIIHA L AHAA £48
150,000 *13] 150
OFII&H HIIBMN 48
1,000,0002! *13| 1,000
OMUBIIE SF(]N) 500,000 *13] 500
OR$Z Ha 350, 000! 23] 700
O2A2HIIZ S Azl 90,000! 122 1,080
OYysselal B4H2IE 20,0008 S 128 480
OHAMZE 228 2 200,0002! 122 2,400
On&cz s8R 10,0002 122 120
ORIRNA & HHZE oIy
150! 4% *2, 0000H 1,200
OXNBRUEMO H+TH D&
120,0002! 24 240
OFAAY NEBE L 428 7Y 13,250
L COAYE PUAMSE
1,0002! x2Z *1,000% 2,000




2N ERSERANAL
HE: 2OALXN L
Sl BAAINY L A2 CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %Ei Hns2
C EAFANY 2B 79 700,008 w25 1,400
L AHES DENE  1,5008 %25 +1,0008 3,000
L HEcREARY 2ETY
250,000 +104 2,500
. O230IE AL AEE 29
3,0002! ¥5007H 1,500
L SR AAN Z2IY 29
170,00021 574 £ 850
L AVYBUAE B2 2Y SETY
1,000 23] *1,0004 2,000
ONTASH 2I T2 08 2 5,000
. DS B2 22 7Y 25002 %25 #4000} 2,000
L E20Y 29 1,000,0008! *33| 3,000
OFQIMIME HLT2IY 29
725,000 %474 & 2,900
0%, UES H2L& A 5,200
£92 2 DLW HMA
2,5002! *1,0007H 2,500
ZolAg AETY 150,000 * 183l 2,700
OO0lRI0] BADY T2 4,900
e SmB (I 2,5002*1,0007H 2,500
c Z20Y 2EF+7Y 200,000& x123] 2,400
OBEY 0y 2SS0 30,0002 *103] 300
OMEERUS) T2y 29
250,0002 %2JH 4 63| 3,000
OMMHE syE2] 29
140,000 *83] 1,120
OR2SY S T2 29
1,800 %235 +400 =2 1,440
CEX-Fa-} 14,520
ogmE4g 60,0002 %1% 1192 7,140
Ome=m+g 30,0008 *1% x2462! 7,380
oul = 2,080
oAM= (BE2A T8)
80,0002 %2124 13| 1,680
oz 2e= 200,000 *12 x23] 400
oYXz 2,232
OEES] 40,0002 *3CH 122 1,440
Odldl 22,0002 *3CH 122 792
02 2B 2| 76,482 63,432 13,050
CNEETEYY 33, 184
OBA SRS 2,000, 0002 *14] 2,000
OHAM ZZ4 L HAFH 1,500,000 «23] 3,000
OA%, SHAS, ®I| 42| 3,000,008 14 3,000




SN HREEE
M 200A27
chel: AW 2
BE .G (3) - MY - BES il
O 2l (2H #3a 8)
6,280,000 » 14! 6,280
O &l =2l 200,000& 1038 2,000
O 2l 200,000& »23| 400
OoM=E gl =2l 100,000& 203 2,000
oz Jl &2 WM 180,000 «2CH 360
OCX ZH 8l (DR) = Xl 8l
1,000, 000& *62] 6,000
O SESAAE KXY
660,000& *43| 2,640
OFIR=3=-P HESEAHAAE S
276,000& *43] 1,104
OgArs A3 FHI 2,500,000 » 14l 2,500
OgAE A ol ==¢l 1,000, 000& 14 1,000
Ograa 2= 900,000 » 14l 900
0Z22R2= Al 43,298
O=2NES 23 150,000& = 12& 1,800
odIIe2 3,100,000& x12& 37,200
O&ot=& 330,000& 122 3,960
OAOISTV(REYSE) MER
6,000& x4+ 12& 288
OAgortd & 3l 50,000& x13] 50
03 &Ar2 I 2,300 1,100 1,200
OY, UEE M3 A 22 2F
1,150, 000& *23| 2,300
202 odl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OZ2| ™o dl 2,400,000 2,400
203 YR =] 3,500 3,500 0
03 AIF=XH 2 =AY 3,500 3,500 0
OEHYRFA 3,500,000& 3,500
301 L2 A= 7,220 5,400 1,820
11IIEEAS 7,220 5,400 1,820
O3 SEULSIAMY 7,220
O, UEE Mzt At 2HAtHI
210,000& *43] 840
OogolEal W T2 A
110,000& =162l 1,760
OZEZ Y 2swa 2ZA|
70,000& 103l 700
OFURNXME HZZZ2 I 2 A
400,000 *40H A 1,600
OB EE 2SI LA
110,000% *43] *2J4 & 880




2N HREBRANL
Hu: DAL A
el EAHFAY L ARNY (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OAMANE Tz 028 2HA]
110,000& *43| 204 A~ 880
SRSl S MBHH LA
70,000 *2H *4 3| 560
307 212t01 & 62,860 57,740 5,120
01222 = bl 35,890 35,480 410
oxmtlzs 29 500
O%EE ¢ A5 ¢ 500,000& *13] 500
o=2clXzss 29 800
OoA2E F2¢ 100,000& x5& 500
OX&EO0ol & D204 #¢ 10,000& *30H 300
ogadEls 29 29,590
OMGtsr 2 AFAI S 130,000& *9E x6S 7,020
OEY ZHALAISF 50,000& x2& *28= 2,800
Ot HAFAI 60,000& x2E *8S 960
OdY HAA 135,000& *4E +x8= 4,320
OD0reE & AFAISF 35,000 x5&5+18S 3,150
ONT 2 AFAIF 120,000& 65 *x6 S 4,320
OJIEt Al 2 A2 F 90,000& *13& 63| 7,020
oXza Y seta 29H 5,000
O%E ¢ A5 ¢ 200,000& *25& 5,000
05 A2t E 2 26,520 21,960 4,560
OFAMNEALEA 2,210,000& x12& 26,520
06 282 450 300 150
oMESHHA Ol 2 450,000& *13] 450
401 Al HI L 201 39,850 8,000 31,850
01 A& bl 39,850 8,000 31,850
OFAF CCTV & X S A+ 21,850,000& 21,850
OFA M Ex+3A 18,000,000& 18,000
405 XtabE SHI 14,200 18,500 A 4,300
01 AL 2B F SHI 14,200 18,500 A4 ,300
O Xt & 2EFHSHI 14,200
OgAE A332(H2HE) 1,800,000 = 1CH 1,800
OHICILZZHME (W) 4,000,000 =104 4,000
OFXH AN (2R +24l) 100,000& = 1CH 100
OHEN(RRLES4) 900, 000& = 1CH 900
OUEHEEI(NEHHA) 200, 0003 =304 600
OZ2I| A2 (AL A 2,000,000& *2CH 4,000
OENO (ML) 200,000& *3CH 600
OHFA(MHEA) 50, 000& *2CH 100
OATHDIRA | HAACHAL) 700,000& =34 2,100




<

n0

Kio

Hl w

2,208

2,208
2,208

2,808

2,808

A 600

H3r
Wikd
RIS

89, 136

89, 136
89, 136

33,096

33,096

51,840
51,840

4,200
4,200

Off &t 24

91,344

91,344
91,344

35,904

35,904

13,440
13,440
22,464

51,840
51,840
51,840

3,600
3,600
3,600

R

|
H
oD
50
I+

a0

R0
30
O
RO
10

&0
1[3]
J
oll

el

Al
OF

01 At

0o
<+

1J
oll

&

13,440,000
18 * 134+ 128

80
OH
<

=
o

0

18 «128

=
[

2| %

=

2l *

240,000

8,000

Li o4 I

|.

2
=

©

01 =LHOI LI

202 Oddl

KJ
KE
ok
oD

A 600

128

2l *

=

300,000




